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17.

18.

19,

Pr(Z<-1)=A(-1) = 0.1587

A(=0.5)+ (1 - 4(0.5)) = 0.3085 + (1 — 0.6915)
=0.6170

Pr(Z=-125)=1-4(-1.25)=1-0.1056 = 0.8944

Pr(Z = z) = 0.0401
A(z)=1-0.0401 = 0.9599
=175

Pr(Z =—=)+Pr(Z = z) = 24(—=) = 0.0456
0.0456

A(—z)= = 0.0228

1

S|

—Z

00
00

T =

Pr(—z < Z =2) =0.5468

1- 0.5468
Az =270

= 0.2266
—0.75
0.75

—_
-

. Pr(Z=—2)=1-A(-2)=0.6915

A(-2)=1-0.6915 = 0.3085
z=0.50

The 80 percentile of the standard normal

distribution is approximately 0.84 (use table or
InvNorm(0.80) on TI 83)

The 55™ percentile of the standard normal
distribution 1s approximately 0.13.

H=06 og=:2
4=280, o=10
H=9 o=1

4=30, 0010

4-8 44 16
T_—_l—:—_
3 13 3
9&—3 54 5 2
3 T 43 3
26. Pr(X<3.5)+Pr(X=>45)

=1-Pr(35=X=45)

35-4

ey

4

=1-[4(1.25) — 4(—1.25)]|
=1—(0.8944 — 0.1056)

=0.2112

n

|

. A(1.25)=0.8944

. Pr(—75= Z< 1)= A(1)— A(—.75)

=0.8413-02266
=0.6147

1-4(25)=1-0.5987=04013

Pr(Z<-1) +Pr(Z= 1)= A(— 1)+ (1— A(1))
=0.1587 + (1 - 0.8413)
=0.3174

A(1.5)— A(.5)=0.9332 - 0.6915 = 0.2417

Pr(X =9)=Pr|Z =

9-10
1

=Pr(Z > -2)
=1-Pr(Z = -2)
=1-0.0228
=0.9772

Pr(X =32)= PI[Z < 32;30]
=Pr(Z =0.5)
= A(0.5)
= 0.6915

#

|/

2 2
= Pr(-0.50 < Z < 1.50)
= 0.9332— 0.3085

= 0.6247
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